e FORLIN: 8

SS11 Ena City short2 = 13.16KM
STAGE CLASSIFICATION OVERALL CLASSIFICATION
DRIVER/CO DRIVER STAGE [ CLS DRIVER/CO DRIVER OVERALL]| CLS
POS|[NO.[CAR CLS| TIME |POS| DIFF_[|POS|NO.|CAR CLS| TIME [POS| DIFF
1| 1 [MHE &EE/ KM BN R-1[10:51.3] 1 1| 1 |8 &EE/ AR BN R-1| 59:22.6| 1
r2 YR %2 YR
2 | 6 [#r K¥E/ /DR AE R-1[10:55.0 2 37| 2 | 6 [#rFH KiE/ /MR B R-1| 59:33.1| 2 10.5
R/\)L VAB R/\)L VAB
3 | 2 [k B8/BH £RF R-1[11:05.8 3 145|| 3 | 2 |#&8%k B/ZER £EF R-1(1:00:24.6] 3 1:02.0
SKODA J7E7 (10.8) SKODA J7E7 (51.5)
4 | 5 [ER &/ Rk #8— R-1[11:135| 4 222|| 4 | 5 |ER &/ Rk B— R-1[1:01:17.6] 4 1:55.0
a4 FUR (1.7) k3% YR (53.0)
5 | 3 [#E RE/RHF BR R-1[11:14.6] 5 233|| 5 | 3 |HE RE/MRH ER R-1[1:01:20.3] 5 1:57.7
SKODA 77E7 (1.1) SKODA 77E7 (2.7)
=5 | 16 [Heikki Kovalainen/dtJI| #b# R-2|11:14.6| 1 23.3|| 6 16 |Heikki Kovalainen/dtJII #b2% R-2(1:01:33.5| 1 2:10.9
~34 86CS-R3 1.1 ~3% 86CS-R3 (13.2)
7 | 28 [=#k /A HE #B— R-1[11:19.4| 6 28.1|| 7 | 28 |[=#%k EE¥5/AHE #B— R-1[1:02:54.8| 6 3:32.2
Z/%)L VAB (4.8) Z7/\)L VAB (1:21.3)
8 | 27 |[NE E//MMEP ER R-1[11:27.8] 7 36.5|| 8 | 27 |[/NE B&H/mMP ER R-1[1:03:13.6] 7 3:51.0
2 YR (8.4) % YR (18.8)
9 [ 7 [WWAEBX/IAH MF R-1[11:35.3[ 8 440( 9 | 21 | K& KB/2H $7 R-3]1:05:35.0( 1 6:12.4
ka4 FUR (7.5) =P S (2:21.4)
10 | 21 [RK& B&/2H #7 R-3[11:49.1] 1 57.8|( 10 | 17 |[#&)Il EAER/BEH EF R-2(1:05:435| 2 6:20.9
ka4 YR (13.8) AXF 4T (8.5)
11| 20 | RE E2/3# E Wi R-3[ 11:49.4| 2 58.1|[ 11 | 20 (X% Bz/# L B+ R-3(1:05:52.3| 2 6:29.7
% Ty (0.3) % Ty (8.8)
12 | 8 |J&H {5/:AIF K&k R-1{11:58.7[ 9 | 1:07.4| 12 | 11 /MR B&/FHK B— R-1[1:05:58.5| 8 6:35.9
IYEY IRX (9.3) =R P (6.2)
13 | 11 [/NR 85/ B K B— R-1]12:00.1| 10 | 1:08.8|[ 13 | 9 |53 B/MR #E R-1(1:06:56.4| 9 7:33.8
ra45 ¥R 1.4) SYEY TRX (57.9)
14 | 17 |@)l] EXEB/BEH =F R-2(12:01.0] 2 | 1:00.7|| 14 | 12 |## K/#EA £FEH R-1[1:07:02.7| 10 | 7:40.1
RXF RA T+ (0.9 =R P8 (6.3)
15 | 32 [ R HE/FE B8R R-2(12:14.4( 3 | 1:23.1|| 15 | 32 |Kiff H&/FH 8 R-2(1:07:085| 3 7:45.9
3% 86 (13.4) ~3% 86 (5.8)
16 | 30 [fE2 K BIT/HE BFE R-1]12:26.4| 11 | 1:35.1| 16 | 18 ARk /&E&/F3 EH R-2[1:07:11.8| 4 7:49.2
Er eI (12.0) ZAXFE RA4Tk (3.3)
17 | 18 |78/k &&/#H ER R-2(12:28.8] 4 | 1:375|[ 17 | 29 [h#f B—/KX EK R-1(1:08:10.7| 11 8:48.1
ZXE RA4Tk (2.4) ~3% 714 YGRMN (58.9)
18| 9 |5 B/MR &F R-1[12:29.9 12 | 1:38.6|| 18 | 30 |[#E4< K BRfT/HE &E R-1[1:08:33.1] 12 | 9:105
IYEY THRX (1.1) =R P8 (22.4)
19 | 12 [## X/#BER £EH R-1(12:37.4 13 | 1:46.1|| 19 | 23 |&K FIX/ILK Ex R-3(1:09:386| 3 | 10:16.0
ka4 YUR (7.5) % vYR (1:05.5)
20 | 29 [ E—/KK BEX R-1{12:38.9 14 | 1:47.6| 20 | 31 |¥r@& £/ILE B R-1[1:11:448| 13 | 12:22.2
3% *J Y GRMN (1.5) THIVIRT—H KA (2:06.2)
21 | 23 |F&K FIX/ILK BE R-3[12:453| 3 | 1:54.0|| 21 | 14 |HLt ZRE/EE BE R-1]1:12:47.8( 14 | 13:25.2
k34 YYR (6.4) /%)L VAB (1:03.0)
22 | 31 |7rE £/1ILE B R-1[13:05.2| 15 | 2:13.9|| 22 | 38 |#i3 FIE/Flavien Vidal Cc-1]1:13:02.7[ 1 | 13:40.1
THIVIRT—HY RO (19.9) T IILI7RAAA 1750GTV (14.9)
23 | 25 |5H #8/BH F8 R-3|13:22.2| 4 | 2:309| 23 | 39 [R& B/RE BF Cc-1]1:13:28.6( 2 | 14:06.0
k% Ty (17.0) O—/\— 3Z5—/\— (25.9)
24 | 37 (LD &/ —% C-1]13:246| 1 | 2:33.3|[ 24 | 25 |HE ME/BHH FAE R-3[1:13:330| 4 | 14104
T¥3— 106 (2.4) 2 Ty (4.4)
25 | 38 |#iH FIE/Flavien Vidal C-1]13:24.8| 2 | 2:335| 25 | 54 |ET lifd/ Btk i& C-2(1:13:479| 1 | 14:25.3
FILI7AAL 1750GTV 0.2) TYE H/\UFRXT (14.9)
26 | 39 [RA B/RBA BT C-1[13:29.6 3 | 2:38.3|( 26 | 26 [#8/R =R+h/FEF & R-3[1:14:289| 5 | 15:06.3
O—/\— S=H)—/\— (4.8) TA\vY ARy (41.0)
27 | 54 |ELT {Lfd/EAR & C-2(13:332| 1 | 2:41.9|| 27 | 37 |lUO #&/1EE —% C-1]1:14:402[ 3 | 15:17.6
TYH HINUFRXT (3.6) T¥3— 106 (11.3)
28 | 14 |HE RE/BIERE R-1(13:33.4( 16 | 2:42.1|| 28 | 41 |h# 22—/l =ik Cc-1]|1:14:451( 4 | 15:225
Z/3\)L VAB 0.2) =vHY NAFLyk (4.9)
29 | 26 |l Rt/ A R-3|13:37.5| 5 | 2:46.2|| 29 | 22 (BE #&—/MHE Ex R-3[1:15:05.9] 6 | 15433
HAvy ARy 4.1) T4V Ty (20.8)
30 | 45 |FEk B =/R ) st C-2]13:39.8] 2 | 2:485| 30 | 45 |Fik =/ M c-2|1:16:02.2[ 2 | 16:39.6
RIL 2z 930 (2.3) RIL 2z 930 (56.3)
31 | 36 |¥13+ BZ2/HE BR R-3[13:40.1| 6 | 2:48.8|| 31 | 58 [iAl& Fih/BHA EAER c-2|1:16:16.2[ 3 | 16:53.6
—wHy I—F 0.3) =L R bl (14.0)
32 | 35 |HiE BE/AL JEF R-3(13:445( 7 | 2:53.2|| 32 | 36 |#H* Hz/HE HE R-3[1:16:336] 7 | 17:11.0
EE AR (4.4) —yHy I—F (17.4)
33 | 41 | 2—/R0I B C-1]13:45.1 4 | 2:538|( 33 | 35 |RiE BAE/AIL IEF R-3[1:16:46.6| 8 | 17:24.0
ZwHy ALk (0.6) ka2 Ty (13.0)
34 | 58 |iAlE Fih/BAA EAES C-2|13:485| 3 | 2:57.2|| 34 | 57 |l FH/HH BEA c-2|1:16:51.2[ 4 | 17:28.6
K% A 3.4) T4 —F TR3—MMkl (4.6)
35 | 57 |l BE/#iE BER C-2|13:584| 4 | 3:07.1|| 35 | 43 | B2 R Zih/KE HE c-1]1:17:236( 5 | 18:01.0
T4 —K TRI—kMkI (9.9) s ERA e (32.4)
36 | 22 |ERE f2—/WHE EX R-3[14:01.0{ 8 | 3:09.7|| 36 | 53 |AHA Hz/dt+ A c-2|1:17:239( 5 | 18:01.3
T P] (2.6) Rz on 03
37 | 56 |%&F £=/AR Ki§ C-2|14:.01.2] 5 | 3:00.9( 37 | 40 |&F% BUE/Hhim EE c-1]1:18:01.8 6 | 18:39.2
O—4X IS5 0.2) 73— 106 (37.9)
38 | 43 |EZ R Fa/ KR EE C-1|14:.041| 5 | 3:12.8|| 38 | 59 2% %/KE E# c-2|1:19:22.0( 6 | 19:59.4
r3% NAI—R (2.9) SUF7T 037151)— (1:20.2)
39 | 53 |BH HZ/ILH MM C-2|14:06.8] 6 | 3:155| 39 | 24 RN /A & R-3[1:20.05.1] 9 | 20:425
ALz 911 @7 ka4 YR (43.1)
40 | 59 |25 X/ KA Bk C-2|14:.07.1| 7 | 3:15.8|| 40 | 46 |BEE KE/E BE c-2|1:20:23.0( 7 | 21:.00.4
SUFF 03735')— 0.3) FIWIFArAF DaT (17.9)
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e FORLULN: 8

SS11 _Ena City

short2 = 13.16KM

STAGE CLASSIFICATION OVERALL CLASSIFICATION
DRIVER/CO DRIVER STAGE [ CLS DRIVER/CO DRIVER OVERALL]| CLS
POS|NO.[CAR CLS| TIME |POS| DIFF [|POS|NO.|CAR CcLS| TIME [POS| DIFF
41 |24 [RINE/ DB B R-3[14:13.1| 9 | 3:21.8|| 41 | 44 |[#x& FE/HE £ Cc-1]1:20:49.2[ 7 | 21:26.6
ka4 FUR (6.0) k32 N(I—R (26.2)
42 | 40 |BEH BUE/thE EE C-1]14:239| 6 | 3:326| 42 | 34 [3#E H—/1EH 175% R-3[1:21:38.0] 10 | 22:15.4
7F¥3— 106 (10.8) =E Ry P e (48.8)
43 | 34 | AT H—/12H 43F R-3|14:44.2| 10 | 3:52.9| 43 | 15 [& £R/BK JE— R-1[1:22:11.9] 15 | 22:49.3
EE Ry P (20.3) A/\)L VAB (33.9)
44 | 46 |BE HE/B BE C-2|14:453| 8 | 3:54.0| 44 | 33 [BR BE/#hA 1A R-2[1:22:282] 5 | 23:05.6
FILTFOrL SalT (1.1) T+—K J4TRER2 (16.3)
45 | 44 |8 RE/HS 11 C-1]|14:478| 7 | 3:56.5|| 45 | 47 [$1R &/II & c-2|1:22:50.4[ 8 | 23:27.8
r5 NAI—X (2.5) T4+—K TRa—+k (22.2)
46 | 50 [IL% BA/MRiE 1T C-2[14:52.0] 9 | 4:00.7|| 46 | 55 [MHLL —ER/#hK #&ZiE c-2|1:26:403] 9 | 27:17.7
VW-RJL T 914/6 (4.2) SUFT TILE (3:49.9)
47 | 15 |7 ER/8AK IE— R-1(14:53.7[ 17 | 4.02.4
Z/3)L VAB (1.7)
48 | 47 |{HAR &/ T & c-2[15:.005| 10 | 4:09.2
J4—K TX3—+k (6.8)
49 | 33 |BR #$E/FMK 1EAI R-2(15:188[ 5 | 4:275
T+ —F 4T RER2 (18.3)
50 [ 55 [4HIL f2—ER/8R K #21% C-2[15:47.1] 11 | 4558
SVUFT TILE (28.3)
51 | 42 |F8H &/Ex Fls= C-1]27:242| 8 [16:32.9
J4—K TXa—Fk (11:37.
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